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Bachelor of Art (First Year) Examination, 2012

EC - 02

Development Issues in Indian Economics

Hkkjrh; vFkZO;oLFkk esa fodkl ds eqn~nsHkkjrh; vFkZO;oLFkk esa fodkl ds eqn~nsHkkjrh; vFkZO;oLFkk esa fodkl ds eqn~nsHkkjrh; vFkZO;oLFkk esa fodkl ds eqn~nsHkkjrh; vFkZO;oLFkk esa fodkl ds eqn~ns
Time : 3 Hours] [Max. Marks : 60

Note : The Question Paper is divided into three Sections - A, B and C. Give the answers of

every Section as per instructions.

;g iz'u i= d] [k ,oa x rhu [k.Mksa eas foHkkftr gSA izR;sd [k.M ds funsZ'kkuqlkj iz'uksa
ds mÙkj nsa A

Section - A

[k.M & d[k.M & d[k.M & d[k.M & d[k.M & d
(Long Answer Questions)

¼nh?kZ mÙkjh; iz'u½¼nh?kZ mÙkjh; iz'u½¼nh?kZ mÙkjh; iz'u½¼nh?kZ mÙkjh; iz'u½¼nh?kZ mÙkjh; iz'u½
Answer any two questions. Each question carries 15 marks. 2 × 15 = 30

fdUgha nksnksnksnksnks iz'uksa ds mÙkj nhft;s A izR;sd iz'u 15 vadksa dk gS A

1. Critically analyse the major changes which happened in Indian economy after the

economic reforms of 1991.

1991 ds vkfFkZd lq/kkjksa ds i'pkr~ Hkkjrh; vFkZO;oLFkk esa gksus okys egRoiw.kZ ifjorZuksa
dk vkykspukRed ewY;kadu dhft, A
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(a) A-1, B-2, C-3, D-4

(b) A-2, B-1 C-4, D-1

(c) A-3, B-4, C-1, D-2

(d) A-2, B-3, C-4, D-1
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2. Describe the determinants of economic development and explain that the HDI is the

best index for measuring economic development.

vkfFkZd fodkl ds fu/kkZjd rRoksa dk o.kZu dhft, rFkk Li"V dhft, fd ekuo fodkl
lwpdkad vkfFkZd fodkl dk loksZÙke lwpdkad gS A

3. Shed light on the role of agriculture sector in Indian economy. What are the reasons

for the backwardness of Indian agriculture ? Briefly describe the measures in current

budget for the improvement of Indian agriculture.

Hkkjrh; vFkZO;oLFkk esa Ñf"k {ks= dh Hkwfedk ij izdk'k Mkfy, A Hkkjrh; Ñf"k ds
fiNM+siu ds D;k dkj.k gSa \ orZeku ctV esa Hkkjrh; Ñf"k ds mUu;u gsrq izLrkfor
mik;ksa ij ppkZ dhft, A

4. Enumerate the important changes in the composition of Indian exports and imports in

post reform period.

vkfFkZd mnkjhdj.k ds i'pkr~ Hkkjrh; vFkZO;oLFkk ds fu;kZrksa ,oa vk;krksa dh lajpuk
esa gksus okys egRpiw.kZ ifjorZuksa dk mYys[k dhft, A

Section - B

[k.M & [k[k.M & [k[k.M & [k[k.M & [k[k.M & [k

(Short Answer Questions)

¼y?kq mÙkjh; iz'u½¼y?kq mÙkjh; iz'u½¼y?kq mÙkjh; iz'u½¼y?kq mÙkjh; iz'u½¼y?kq mÙkjh; iz'u½

: Answer any four questions. Each question carries 5 marks. 5 × 4 = 20

fdUgha pkjpkjpkjpkjpkj iz'uksa ds mÙkj nhft, A izR;sd iz'u 5 vadksa dk gS A

dkWye I rFkk II dk feyku dj lgh mÙkj nhft, %

dkWye dkWye dkWye dkWye dkWye I     dkWye     dkWye     dkWye     dkWye     dkWye II

A. xjhch dk nq"pØ 1- MCY;w- Vh- vks-

B. ,p- Mh- vkbZ- 2- cktkj dk foLrkjhdj.k

C. oS'ohdj.k 3- jkxu udZls

D. fo'o O;kikj 4- egcwc my gd

(a) A-1, B-2, C-3, D-4

(b) A-3, B-4, C-2, D-1

(c) A-1, B-4, C-3, D-2

(d) A-3, B-2, C-1, D-4

10. Match Column I and Column II and choose the right answer :

Column I        Column II

A. Forest 1. Man Made product

B. Capital 2. Natural Resource

C, Banking & Finance 3. Edible oil production

D. Yellow revolution 4. Service Sector

dkWye I rFkk II dk feyku dj lgh mÙkj nhft, %

dkWye dkWye dkWye dkWye dkWye I     dkWye     dkWye     dkWye     dkWye     dkWye II

A. taxy 1- ekuo fufeZr mRikn

B. iw¡th 2- izkÑfrd lalk/ku

C. cSafdax vkSj QkbusUl 3- [kk| rsy mRiknu

D. ihyh ØkfUr 4- lsok {ks=
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1. Differentiate economic development and economic growth.

vkfFkZd fodkl ,oa vkfFkZd lao`f) esa vUrj Li"V dhft, A

2. Explain the concept of poverty in India.

Hkkjr esa fu/kZurk dh vo/kkj.kk dks Li"V dhft, A

3. Write a short note on the role of MANREGA for finding the solution of the problem of

unemployment in India.

Hkkjr esa csjkstxkjh dh leL;k ds funku gsrq eujsxk dh Hkwfedk ij laf{kIr fVIi.kh
dhft, A

4. Describe the role of public distribution system in securing the food security in India.

Hkkjr esa [kk| lqj{kk dks lqfuf'pr djus esa tuforj.k iz.kkyh dh Hkwfedk dk o.kZu
dhft, A

5. Discuss the various methods of irrigation in India.

Hkkjr esa flapkbZ ds fofHkUu lk/kuksa ij ppkZ dhft, A

6. Analyse the agricultural price policy in Indian economy.

Hkkjrh; vFkZO;oLFkk esa Ñf"k ewY; uhfr dh leh{kk dhft, A

7. Write a short note on salient features of current industrial policy.

orZeku vkS|ksfxd uhfr dh izeq[k fo'ks"krkvksa ij laf{kIr fVIi.kh fyf[k, A

feM Ms ehy ;kstuk ds fy, nksigj dh Hkkstu ;kstuk esa lfEefyr gSa %

(a) izkFkfed f'k{kk

(b) ek/;fed f'k{kk

(c) (a) rFkk (b) nksuksa

(d) mi;qZDr esa ls dksbZ ugha

8. In the year 2011-12 growth rate of GDP of Indian Economy was  :

(a) 6.4%

(b) 6.8%

(c) 8.5%

(d) 8.4%

o"kZ 2011 esa Hkkjrh; vFkZO;oLFkk dh ldy ?kjsyw mRikn dh lao`f) nj Fkh %

(a) 6.4%

(b) 6.8%

(c) 8.5%

(d) 8.4%

9. Match Column I and Column II and choose the right answer  :

Column I        Column II

A. Vicious circle of Poverty 1. WTO

B. HDI 2. Expansion of Market

C, Globalization 3. Ragner Narkse

D. World Trade 4. Mahboob Ul Haque
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8. Describe the salient features of current export import policy of Indian economy.

Hkkjrh; vFkZO;oLFkk dh orZeku vk;kr&fu;kZr uhfr dh izeq[k fo'ks"krkvksa dk o.kZu
dhft, A

Section - C

[k.M & x[k.M & x[k.M & x[k.M & x[k.M & x
Objective Questions (Compulsory)

oLrqfu"B iz'u ¼vfuok;Z½oLrqfu"B iz'u ¼vfuok;Z½oLrqfu"B iz'u ¼vfuok;Z½oLrqfu"B iz'u ¼vfuok;Z½oLrqfu"B iz'u ¼vfuok;Z½
Answer all questions. Each question carries 1 marks. 1 × 10 = 10

lHkh iz'uksa ds mÙkj vfuok;Z gSa A izR;sd iz'u 1 vad dk gS A
State whether the statement is  True or False  :

fuEufyf[kr dFkuksa ds lkeus lR;@vlR; NkafV, %
1. Agriculture sector in India contributes the maximum to national income.

(True/False)

Hkkjr esa Ñf"k {ks= dk jk"Vªh; vk; esa lokZf/kd ;ksxnku gS A ¼lR;@vlR;½

2. In post reform period HDI for India is continuously declining. (True/False)

vkfFkZd mnkjhdj.k ds i'pkr~ Hkkjr dk ekuo fodkl lwpdkad yxkrkj ?kV jgk gS A
¼lR;@vlR;½

3. According to current industrial policy only three sectors are fully reserved for public

sector. (True/False)

orZeku vkS|ksfxd uhfr ds vuqlkj dsoy rhu {ks= lkoZtfud {ks= gsrq iw.kZr% vkjf{kr
gS A ¼lR;@vlR;½

4. Population growth is a major cause of environmental degradation. (True/False)

tula[;k o`f) i;kZoj.kh; voØe.k dk ,d izeq[k dkj.k gS A ¼lR;@vlR;½

5. Indian economy has been in recession in the year 2011-12 due to the economic crisis

in various contries of the world. (True/False)

fo'o esa vusd ns'kksa dh vkfFkZd leL;kvksa ds dkj.k Hkkjrh; vFkZO;oLFkk 2011-2012

esa vkfFkZd eanh esa jgh gS A ¼lR;@vlR;½

6. According to constitutional provision right on minerals belongs to :

(a) State Government

(b) Central Government

(c) Both (a) and (b)

(d) None of the above

laoS/kkfud fLFkfr ds vuqlkj [kfutksa ij fdldk vf/kdkj gS \
(a) jkT; ljdkj dk
(b) dsUnz ljdkj dk
(c) (a) rFkk (b) nksuksa
(d) mi;qZDr esa ls dksbZ ugha

7. Mid Day Meal Programme for providing lunch includes  :

(a) Primary Education

(b) Secondary education

(c) Both (a) and (b)

(d) None of the above


